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HAOKRES| +E% |HOREES| 1% |HOKEE| +r% [HokEd| +r% HORES| +tE%E |HORES| tE% |HOKEES| 7% [HokEx| +r%
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1)) LD DED D10 D)) DLD DLD DHED
(kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?2) (m) (kN/m?2) (m) (kN/m?2) (m) (kN/m?) (m) (kN/m?2) (m)
1 ~ 2 - - 96.88 1.00 - - 11.36 2.25 ~
2 ~ 3 - - 100.00 | 1.00 - - 11.36 2.25 ~
3 ~ 4 13833 | 1.00 | 10000 | 1.00 - - 14.42 2.85 ~
4 ~ 5 151.77 | 1.00 | 10000 | 1.00 - - 15.16 3.00 ~
5 ~ 6 15502 | 1.00 | 10000 | 1.00 15.82 3.13 15.16 3.00 ~
6 ~ 7 15502 | 1.00 | 10000 | 1.00 15.75 3.12 15.16 3.00 ~
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